
2022年四年级上半期英语课时练习网络考试试卷

1. 匹配题　　　　　　　　 　　　　 　　　　 　 　　
给下列句子选择合适的答语。

A. No. There are four.
B. It's eating fruit and vegetables.
C. He is my brother.
D. He is riding a bike.
E. No, they are playing chess.
A. No. There are four.
B. It's eating fruit and vegetables.
C. He is my brother.
D. He is riding a bike.
E. No, they are playing chess.
（1）Who is that boy? ________ 
（2）What is Tom doing? ________ 
（3）There are three chickens in the photo. ________ 
（4）There are two girls. They are running. ________ 
（5）There is a pig in the photo. ________

2. 匹配题　　　　　　　　 　　　　 　　　　 　 　　
选择与图片相符的短语。

1.　 (　　)

2.  (　　)

3.  (　　) 
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